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TecToBOE 3a1aHNeE IJI1 JMATHOCTHYECKOI0 TECTHUPOBAHUA

3 cemecmp
IIpoBepsiemas 3ananue BapuanTbl Tun cinoxknocTn
KOMIIETCHIIUA O0TBETOB BOIIpoCa
OIIK-1 Buvibop nponywennwvix cnog HU3KUI
1. Fill in the gap with one word to
render the meaning «OH mpocTo He MOT
3TOI'0 CACIaThb»:
He can’t ... have done it
OIlK-1.3 Buvibop nponywennuix cnos HU3KHUI
2. Fill in the gap with one word to
render the meaning «OH 4yTb He
ynam»:
He ... have fallen
OIIK-1.3 Buvibop nponywennwvix cnog HU3KUN
3.Fill in the gap with a modal verb to
render the meaning «Pyuka He murmeT»:
The pen ... write
OIIK-1.3 Oounounwiii 66160p a) can HU3KUI
4.Which verb can have the category of | b) have to
person and number and all tense-aspect | c) shall
forms, as well as verbals d) should
OIIK-1.3 OouHouHbIll 86100p a) may HU3KUN
5. Which verb renders the meaning of b) must
promise, warning, or threat? c) shall
d) to be to
OIIK-1.3 Ha coomeemcmesue 1.He can’t CpeaHuit
6. Match the sentences and the meaning | have
of modals in them. behaved like
that.
2.You can do

anything you
want.

3.Can she
have said it?
4. You
cannot park
your car
here.

a)
prohibition
b) surprise
c)
improbability
d)
permission




OIIK-1.3 Ha coomsemcmeue 1.He should CpeHuit
7. Match the sentences and the meaning | see a doctor.
of modals in them. 2.They dared
him to jump.
3.Weareto
meet tonight.
4, You ought
to see the
way she
dances.
a) challenge
b)
advisability
c) describing
smth exciting
d) necessity
arising out of
an
arrangement
or aplan
OIIK-1.3 Buibop nponywennvix cnog CpeaHui
8. Choose a suitable modal for the
sentence
He (ne mpuuuiocs) to wait for a long
time
OIIK-1.3 Buibop nponywennuix cnos cpenHuit
9. Choose a suitable modal for the
sentence
Why ( ¢ kakoii cratn) | listen to you?
OIlK-1.3 Buvibop nponywennulx cnos CpemHuit
10. Choose a suitable modal for the
sentence
He always talks about his problems.
— He (rakoii).
OIIK-1.3 Buibop nponywernnuix cnos cpemHuit
11. Choose a suitable modal for the
sentence She can’t (He momor.ia) to
doit.
OIlK-1.3 Buvibop nponywennuix cnos CpemHuit
12. Choose a suitable modal for the
sentence
Boys (Bceraa ocrarores) be boys.
OIIK-1.3 Buibop nponywernnuix cnos cpemHuit
13. Choose a suitable modal for the
sentence
You (ne3aueM ObL10 MPUXOAUTH), the
lecture has been put off.
OIIK-1.3 Buvibop nponywennuix cnos cpemHuit

14. Choose a suitable form of the
Subjunctive Mood for the sentence
It’s time he (cka3au) the truth.




OIIK-1.3

Buvibop nponywennuix cnos

15. Choose a suitable form of the
Subjunctive Mood for the sentence
Alice wished she (:xaumb, uTo
paccka3zaJa) the truth.

CpEeIHMI

OIIK-1.3

Oounoumblll 86100p
16. What verbs can be both defective
and regular?

a) need
b) dare
c) ought
d) will

BBICOKUH

OIIK-1.3

MHnooicecmeennblii 6b100p

17. Choose the sentences in which
modals express criticism, faultfinding
or reproach.

a) She might
not have
made such a
mistake.

b) You might
have told us
the truth.

BBICOKUH

) They
should have
warned us
beforehand.
d) You could
have done
something to
help us.

e) He
couldn’t
have said
such athing.
f) You
oughtn’tto
have been so
sympathetic
to her.

OIIK-1.3

MHooicecmeennblil 6b160p
18. Choose the appropriate variants

a) It’s vital
she do it.

b) It’s vital
she did it.

c) It’s vital
she would do
it.

d) It’s vital
she should
do it.

BBICOKHI

OIIK-1.3

MHnooicecmsennbiii 6b100p
19. What modal verbs can express
prohibition?

a) can’t

b) may not
C) mustn’t

d) are not to
e) don’t have
to

f) needn’t

BBICOKUH




OIIK-1.3

MHnooicecmeennblii 6b100p a) must

20 What modal verbs can express b) may

probability? ¢) should
d) to be to
e) have to
f) ought to

BBICOKUH

4 cemecmp

TecToBOE 3a1aHNeE AJI51 JMATHOCTHYECKOI0 TECTUPOBAHUA

IIposepsie
Mast
KOMIIETEHII
ust

3aganue

Bapl/laHTbl OTBETOB

Tun
CJI0KHOCTH
BOIIpOCca

OIIK-1.3

Buvibop nponywennozo crnosa

1. Fill in the gap with one word
to render the meaning «byap uto
OyneT»:

Come... may

HU3KUI

OIIK-1.3

Buvibop nponywennoeo crnosa
2. Fill in the gap with the
appropriate form of the verb:
Nick and Pat would be
disappointed if we (be late)
for their wedding ceremony.

HU3KUHN

OIIK-1.3

Buvibop nponywennoeo cnosa
3. Fill in the gap with the
appropriate form of the verb:

I wouldn't have answered the
phone if | ( to know) it was
him.

HU3KUH

OIIK-1.3

Buvibop nponywennoeo crnosa

4. Fill in the gap with the
appropriate form of the verb:
We are tired as if we (to work)
all day long.

HU3KUHN

OIIK-1.3

Buvibop nponywennozo crnosa

5. Fill in the gap with the
appropriate form of the verb:

I’d rather he (to call) me back.

HU3KUHI




OIIK-1.3 OO0uHoyHbIll 8b100D a) | agreed to delay CpenHui
6. Which sentence contains a me leaving till next
gerundial predicative Monday.
construction? b) I saw him leaving
the airport.
¢) The matter is now
being discussed at
the parliament.
d) After hearing the
news, she got really
upset.
OIIK-1.3 Ha coomsemcmsue 1. Infinitive cpenHuit
7. Match the verbals and the 2. Participle |
sentences that contain them. 3. Gerund
4. Verbal Noun
a) Memorize the
proverbs and
sayings.
b) Tom was heard
being a very smart
student.
¢) They seem to have
been arguing for a
couple of hours.
d) He was good at
gathering
mushrooms
OIIK-1.3 Buvibop nponywennozo crnosa cpenHui
8. Use the appropriate form of the
Infinitive:
She was very pleased (to
choose) for this post.
OIIK-1.3 Buvibop nponywennoezo crnosa cpenHui
9. Use the appropriate form of the
Participle I:
(to tell) of his arrival, I went to
see him.
OIIK-1.3 Buvibop nponywennoeo cnosa cpemHui
10. Use the appropriate form of
the Gerund:
My little sister isn’t afraid of
dogs in spite of (bite) twice.
OIIK-1.3 Oounounwiil 66160p a) repairing cpenHui
11. Choose the suitable verbal: b) to be repaired
We had the roof (to repair) c) repaired
yesterday. d) to repair




OIIK-1.3 Ooumnounwlii 66160p a) recognizing cpenHuit
12. Choose the suitable verbal: b) to recognize
But in fear of (to recognize) c) being recognized
she lowered her gaze.. d) having been
recognized
OIIK-1.3 OounouHblll 86100p a) have been CpelHui
13. Choose the suitable verbal: smoking
Would you mind ...here? b) being smoked
C) to smoke
d) my smoking
OIIK-1.3 Ooumnounwiii 66160p a) calling CpemHui
14. Choose the suitable verbal: b) being called
I was afraid of (to call) upon to | c) having been called
give evidence against her. d) called
OIIK-1.3 Ooumnounwiil 66160p a) to give cpeHui
15. Choose the suitable verbal: b) being given
You needn’t tell me this. I | c)tohavebeen
happened (to give) all the | given
details by brother. d) to be given
OIIK-1.3 Mnoocecmeennulii 6b160p a) She saw her BBICOKHI
16. Choose the examples of the husband cross the
Complex Object Construction road.

with the Infinitive.

b) The storm was too
strong to go oult.

c) He entered the
room, his eyes
shining.

d) They were seen
laughing happily.

e) She finds the
doctor to be a unique
man.

f) He turned to his
sister to thank her.




OIIK-1.3

MHooicecmsennblil 66100p

17. Choose the examples of the
Absolute Participial
Constructions.

a) Receiving no
letters from her
father, she called
him.

b) He reached out
across the table, his
hand covering
Marsha's.

c) The man who is
speaking now is our
new secretary.

d) Iris stared out
over the landscape,
her chin cupped in
her hand.

e) The letter having
been written, he went
out to post it.

f) The book being
translated into
Russian, it could be
read by everybody.

BBICOKHUU

OIIK-1.3

Mmuooicecmeernulil 66160p

18. Choose the examples of the
Complex Subject Construction
with the Infinitive

a) The first
experiment proved to
be a success.

b) You could have
heard a pin drop.
c) My mother was
clever enough to
avoid arguing with
her husband.

d) We are sure to
come to the heart of
the matter.

e) She was heard to
laugh heartily.

BBICOKHI

OIIK-1.3

MHnoocecmsennblii 6b100p

a) At the moment the
kids were heard
going across the hall

BBICOKUI




19. Choose the examples of the
Complex Subject Construction
with the Participle

b) He stood at the
bottom of the bed,
his hands folded in
front of him.

¢) She could be often
found helping the
poor.

d) The room being
dark, I couldn't see
him.

e) Keeping his secret
won't do any harm.
) James was seen
reading a French
newspaper.

OIIK-1.3

Mmuoorcecmeennuliil 86100p

20. Choose the examples of the
Complex Object Construction
with the Participle

a) When Mary
opened her eyes she
saw Nina standing
by her side.

b) She felt her
cheeks blushing a
little.

¢) Atlastshe heard
her name called.

d) He looked at her
intently, his curiosity
reviving.

e) The letter having
been written, he went
out to post it.

f) He was aware of
Jack’s watching him
attentively.

BBICOKUH




